4 3 2 1
TS TS B ED e sormun FELEASED. FOF PURTEATON - HATED WITH REVISIONS
@ ALL RIGHTS RESERVED. AENDERUNGEN
COPYRIGHT — By — ALLE RECHTE VORBEHALTEN BG 3 P | LR DESCRIPTION DATE DWN | APVD
BESCHREIBUNG
A10 | ECR-17-009069 o9reB2018| SG MKO
1:5:6 Screw version 2 M3x10 1 Crimp version 3 M3x10 & spring clamp version 11 M3x10
Thermo assembly directions
7 - ’ - '
8 ~| |8 8 7 Sti
™ S \
ﬁ%ﬁ?%& o~ /ZL$€}$J\ /ZL$€E}$J3\ iz
-
m LN
I I I I I I o
E'E E'E "X
Ll “ 2] Ll “ ‘4 Ll J Bu
52 33 52 52 y
' ' ' ' ' ' distance for a safe -
contact max: 21mm
NOTES:
Printing 1-6 Thermo 1 SUITABLE CRIMP CONTACTS: SERIES HE/HA
~ OUTER DIMENSIONS OF INSULATION: MAX. 83,2 MM
(+ + 2 SUITABLE HOOD SIZE 3: SERIES HB; HD; HIP; EMV
SUITABLE INSERTION AND EXTRACTION TOOL:
b-5- 6- Contact arranqernen’r SCREWDRIVER 0,5x3 DIN 5264
® 06 & S - ,
@ = :fl'l.p ler:ghf: Screwflcon1e;honc1(.)mm von 15
= ring clamp conection 1Umm Lrimp conecrion /.omm
. . . § pring P p
1+ 2+ 3+ view from fermination side S 4 S&Aé‘ﬁé‘%%i OIN EN 606641
+ + g
N % = A\ PACKAGING:
> 5 SETS IN A CARTON, PRE-MOUNTED
L L [m] L A
=l — SPECIAL PACKAGING: Krauss-Maffei
Printing 1-6 Screw Sl2ls - PACKAGING UNIT: 150 PIECES
3 N 2128 |2
-|- . —|— o|lo|3 o
5 o .
° o i L4 & |4 |4 |4 |fixingscrew steel nickel plated blue 8 [M3x10
@ 6 contact spring clamp brass silver plated 1
® 06 © ——
1 2 3 6 contact socket screw termination brass gold plated 6
\& +/ 6 6 | contact socket screw termination brass silver plated 5
1 cover spring clamp version light grey IA
1 cover crimp version i 3
M3 | 37 P light grey
| | | 111 1|1 | cover screw version light grey 2
-—E | Rl TIAL1 1] ] 1| socketinsert light grey 1
ounel cut-out | ot et 043l042l7-112-3[1d7]1-1 DESCRIPTION MATERIAL COLOR s s
anel cut-out for confact inser
Py N /NANA AL A THIS DRAWING IS A CONTROLLED DOCUMENT. |™@ ¢ 12.02.1999 —_— o
when used without housing E DIESE ZEICHNUNG IST EIN KONTROLLIERTES DOKUMENT. CHg hwei 18.02.1999 — ’ E TE ConneCtIVIty
- DIMENSIONS: TOLERANCES UNLESS chweiger
& & A pEE i ™ .
| p 0 PLC + ~FERHR. m-[ PRODUCT SPEC Female insert
[ | - g 1 PLG ” PRODUKTSPEZ. HEGBUC/S
L1 Ik H < @ 2 PLC +- — -
. : U = E 3 pL - APPLICATION SPEC
57 AL [2 2D 2]g 4 prc +- VERARBEITUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
—~ - Al d|o|alalal|s GLES /WINKEL __ +— - ZEICHNUNGS-NR. NUR FUER
s N S N N N £ | MATERIAL FINISH/OBERFLAECHE/FARBE WEIGHT _
;i ;; ; ; ;; ; 5 ] i T A 3|00779/C=1103635
LT I CUSTOMER DRAWING/KUNDENZEICHNUNG msea] 1 aarr 1 @R | CA10

1470-19  (1/15)




